ATOMSTACK

EN: B3 protective box/ DE: B3 Schutzbox
FR: Boite de protection B3 / IT: Scatola di protezione B3
ES: Caja protectora B3 / ZH: B3 B5iPfE

F03-0230-0AA1 V:2.0



EN

DE

Disclaimer

This product is not a toy and is not suitable for people under 15 years of age. Do not allow children to touch the laser Module. Please be careful when operating in aituation
invotving children.

This product is a protection box, visit http://www.atomstack.com/ for complete "user manual" and the latest instructions and warnings. AtomStack reserves the right to update
this Disclaimer and Safe Operation Guidelines.

Please be sure to read this document carefully before using the product to understand your legal rights, responsibilities and safety instructions; Otherwise, it may bring property
loss, safety accident and hidden danger of personal safety. Once you use this product, you shall be deemed to have understood and accepted all terms and contents of this
document. User undertakes to be responsible for his or her actions and all consequences arising therefrom. User agrees to use the Product only for legitimate purposes and
agrees to all terms and contents of this document and any relevant policies or guidelines that AtomStack may establish. You understand and agree that AtomStack may not be
able to provide you with the cause of the damage or accident and provide you with AtomStack’s after-sale service unless you provide the original engraving or cutting files,
englglaving s?ftlware configuration parameters used, operating system information, video of the engraving or cutting process, and operational steps prior to the occurrence of a
problem or failure.

AtomStack is not liable for any and all losses arising from the user's failure to use the product in accordance with this manual.

AtomStack has the ultimate right to interpret the document, subject to legal compliance. AtomStack reserves the right to update, modify, or terminate the Terms without prior
notice.

The B3 Protective Box is currently only compatible with the following models:A6 Pro/ A12 Pro/ A24 Pro/ X12 Pro/ X24 Pro

Verzichtserklarung

Dieses Produkt ist kein Spielzeug und nicht fir Personen unter 15 Jahren geeignet. Erlauben Sie Kindern nicht, das Lasermodul zu beriihren. Bitte seien Sie vorsichtig, wenn Sie
mit Kindern arbeiten.

Bei diesem Produkt handelt es sich um ein Schutzbox, besuchen Sie http://www.atomstack.com/ fiir das vollstandige "Benutzerhandbuch" und die neuesten Anweisungen und
Warnungen. AtomStack behélt sich das Recht vor, diesen Haftungsausschluss und die Richtlinien fiir einen sicheren Betrieb zu aktualisieren.

Bitte lesen Sie dieses Dokument sorgféltig durch, bevor Sie das Produkt verwenden, um lhre gesetzlichen Rechte, Pflichten und Sicherheitsanweisungen zu verstehen.
Andernfalls kann es zu Sachschéaden, Sicherheitsunféllen und versteckten Gefahren fir die persénliche Sicherheit kommen. Sobald Sie dieses Produkt verwenden, wird davon
ausgegangen, dass Sie alle Bedingungen und Inhalte dieses Dokuments verstanden und akzeptiert haben. Der Nutzer verpflichtet sich, fiir seine Handlungen und alle sich
daraus ergebenden Folgen verantwortlich zu sein. Der Benutzer erklart sich damit einverstanden, das Produkt nur fiir legitime Zwecke zu verwenden, und stimmt allen
Bedingungen und Inhalten dieses Dokuments sowie allen relevanten Richtlinien oder Richtlinien zu, die AtomStack festlegen kann. Sie verstehen und erklaren sich damit
einverstanden, dass AtomStack moglicherweise nicht in der Lage ist, Ihnen die Ursache des Schadens oder Unfalls mitzuteilen und lhnen den Kundendienst von AtomStack zur
Verfiigung zu stellen, es sei denn, Sie stellen die Original-Gravur- oder Schneidedateien, die verwendeten Konfigurationsparameter der Gravursoftware, Betriebssysteminforma-
tionen, ein Video des Gravur- oder Schneidevorgangs und die Betriebsschritte vor dem Auftreten eines Problems oder Fehlers zur Verfligung.

AtomStack haftet nicht fiir Verluste, die sich daraus ergeben, dass der Benutzer das Produkt nicht in Ubereinstimmung mit diesem Handbuch verwendet.

AtomStack hat das letztendliche Recht, das Dokument zu interpretieren, vorbehaltlich der Einhaltung der gesetzlichen Bestimmungen. AtomStack behélt sich das Recht vor, die
Bedingungen ohne vorherige Ankiindigung zu aktualisieren, zu modifizieren oder zu beenden.

Die B3 Schutzbox ist derzeit nur mit folgenden Modellen kompatibel: A6 Pro/ A12 Pro/ A24 Pro/ X12 Pro/ X24 Pro

01



FR

Démenti

Dieses Produkt ist kein Spielzeug und nicht fir Personen unter 15 Jahren geeignet. Erlauben Sie Kindern nicht, das Lasermodul zu berihren. Bitte seien Sie vorsichtig, wenn Sie mit
Kindern arbeiten.

Bei diesem Produkt handelt es sich um ein Boite de protection, besuchen Sie http://www.atomstack.com/ flr ein vollstandiges "Benutzerhandbuch" und die neuesten Anweisun-
gen und Warnungen. AtomStack behélt sich das Recht vor, diesen Haftungsausschluss und die Richtlinien fiir den sicheren Betrieb zu aktualisieren.

Assurez-vous de lire attentivement ce document avant d'utiliser le produit pour comprendre vos droits, responsabilités et consignes de sécurité légaux; Sinon, cela peut entrainer
une perte de biens, un accident de sécurité et un danger caché de sécurité personnelle. Une fois que vous utilisez ce produit, vous serez réputé avoir compris, accepté et accepté
tous les termes et contenus de ce document. L'Utilisateur s'engage a étre responsable de ses actes et de toutes les conséquences qui en découlent. L'utilisateur accepte d'utiliser le
produit uniquement a des fins légitimes et accepte I'intégralité des termes et du contenu de ce document et toutes les politiques ou directives pertinentes que AtomStack peut
établir. Vous comprenez et acceptez que AtomStack peut ne pas étre en mesure de vous fournir la cause du dommage ou de l'accident et de vous fournir le service apres-vente de
AtomStack a moins que vous ne fournissiez les fichiers de gravure ou de découpe originaux, les paramétres de configuration du logiciel de gravure utilisés, les informations du
systeme d'exploitation, la vidéo du processus de gravure ou de découpe et les étapes opérationnelles avant l'apparition d'un probléme ou d'une défaillance.

AtomStack n'est pas responsable de toutes les pertes résultant de la non-utilisation du produit par I'utilisateur conformément a ce manuel.

AtomStack a le droit ultime d'interpréter le document, sous réserve du respect de la loi. AtomStack se réserve le droit de mettre a jour, de modifier ou de résilier les Conditions sans
préavis.

Le boitier de protection B3 n' est actuellement compatible qu’ avec les modeles suivants : A6 Pro / A12 Pro / A24 Pro/ X12 Pro / X24 Pro

Disconoscimento

Ce produit n'est pas un jouet et ne convient pas aux personnes de moins de 15 ans. Ne laissez pas les enfants toucher le module laser. S'il vous plait soyez prudent lorsque vous
opérez dans l'aituation impliquant des enfants.

Ce produit est un module Scatola protettiva, visitez http://www.atomstack.com/ com pour le « manuel d'utilisation » complet et les derniéres instructions et avertissements.
AtomStack se réserve le droit de mettre a jour cette clause de non-responsabilité et les directives d’exploitation sécuritaire.

Assicurati di leggere attentamente questo documento prima di utilizzare il prodotto per comprendere i tuoi diritti legali, le responsabilita e le istruzioni di sicurezza; In caso
contrario, potrebbe portare perdita di proprieta, incidente di sicurezza e pericolo nascosto di sicurezza personale. Una volta utilizzato questo prodotto, si riterra che tu abbia
compreso, accettato e accettato tutti i termini e i contenuti di questo documento. L'utente si impegna ad essere responsabile delle proprie azioni e di tutte le conseguenze che ne
derivano. L'Utente accetta di utilizzare il Prodotto solo per scopi legittimi e accetta tutti i termini e i contenuti di questo documento e qualsiasi politica o linea guida pertinente che
AtomStack puo stabilire. Comprendi e accetti che AtomStack potrebbe non essere in grado di fornirti la causa del danno o dell'incidente e fornirti il servizio post-vendita di
AtomStack a meno che tu non fornisca i file di incisione o taglio originali, i parametri di configurazione del software di incisione utilizzati, le informazioni sul sistema operativo, il
video del processo di incisione o taglio e le fasi operative prima del verificarsi di un problema o di un guasto.

AtomStack non é responsabile per eventuali perdite derivanti dal mancato utilizzo del prodotto da parte dell'utente in conformita con questo manuale.
AtomStack ha il diritto ultimo di interpretare il documento, nel rispetto della legge. AtomStack si riserva il diritto di aggiornare, modificare o risolvere i Termini senza preavviso.

La scatola protettiva B3 é attualmente compatibile solo con i seguenti modelli:A6 Pro/ A12 Pro/ A24 Pro/ X12 Pro/ X24 Pro

02



ES

ZH

Renuncia

Este producto no es un juguete y no es apto para menores de 15 afios. No permita que los nifios toquen el médulo laser. Por favor, tenga cuidado al operar en la animacién de
nifios.

Este producto es un médulo Caja protectora, visite http://www.atomstack.com/ para obtener el "manual del usuario" completo y las Ultimas instrucciones y advertencias.Nos
reservamos el derecho de actualizar este Descargo de responsabilidad y las Pautas de operacion segura.

Asegurese de leer este documento detenidamente antes de usar el producto para comprender sus derechos legales, responsabilidades e instrucciones de seguridad; De lo
contrario, puede traer pérdida de propiedad, accidente de seguridad y peligro oculto de seguridad personal. Una vez que utilice este producto, se considerara que ha entendido,
aceptado y aceptado todos los términos y contenidos de este documento. El usuario se compromete a ser responsable de sus acciones y de todas las consecuencias que se deriven
de las mismas. El Usuario acepta usar el Producto solo para fines legitimos y acepta todos los términos y contenidos de este documento y cualquier politica o guia relevante que
AtomStack pueda establecer. Usted entiende y acepta que AtomStack puede no ser capaz de proporcionarle la causa del dafio o accidente y proporcionarle el servicio postventa de
AtomStack a menos que proporcione los archivos originales de grabado o corte, los parametros de configuracion del software de grabado utilizados, la informacion del sistema
operativo, el video del proceso de grabado o corte y los pasos operativos antes de la ocurrencia de un problema o falla.

AtomStack no es responsable de todas y cada una de las pérdidas derivadas de la falta de uso del producto por parte del usuario de acuerdo con este manual.

AtomStack tiene el derecho final de interpretar el documento, sujeto al cumplimiento legal. AtomStack se reserva el derecho de actualizar, modificar o rescindir los Términos sin
previo aviso.

Actualmente, la caja protectora B3 solo es compatible con los siguientes modelos: A6 Pro/ A12 Pro/ A24 Pro/X12 Pro/ X24 Pro

S
AFERAZTE, NES 15 ZLUTHA. B2 L EMEHURR, B)LEERNER MRSV,
AF=RARFEER, E51A) http://www.atomstack.com/ SRENGEEERY” FAF M AR SFTHNREAFNEZE, AtomStack (REBE AR RAEIBIL SR FERIIF),
BEVIEGRFREFRAREAS, TRIGHEEF. SENRLREEN, TaERSTRE, Z2FHIASTLRE. —BRERANTR, IMAEEERIHES A SUEIFRERR
%DW@ R R T AR LA ERERAE, FRRREFRETAREN, FRRA AR IAAELIR AtomStack T‘E‘E%JEEWHYE%EZ%Z‘HE@, IR
. BAHEERAR ISR, EENRAREES Y. BERGES. BRI URLUR B R R EETE, A AtomStack BTEET AMIEEAHR RS RI0R
EHERME AtomStack FIEERS.
NFEAFRRBAFAER RS TFIFEIRKL, AtomStack AT
AtomStackfEESHEENRHE T, B SHHNREREN, AtomStack (REFEHT. ISKEERILEEIFI, BARBITEN.

B3phiRAE BBIXGRS LA TELS . A6 Pro/ A12 Pro/ A24 Pro/ X12 Pro/ X24 Pro

03



Packing list / Packliste / Liste de colisage / Bolla di accompagnamento / Lista de embalaje / @558

Top component / Oberteil der
Komponente
/ Composant supérieur /
Componente superiore
/ Componente superior / TRERE(4

anteriore

Right component /
Richtiges Bauteil

/ Composant droit /

Componente destro

Left component/ Linkes Bauteil
/ Composant gauche /
Componente sinistro
/ Componente izquierdo / Z&&B
B

aba

e —

LED cables / LED-Kabel /
Cébles LED / Cavi LED /
Cables LED / LEDFEK%:

Gravity switch cable /
Schwerkraft-Schalter-Kabel /
Cable de commutation par
gravité / Cavo dell'interrut-
tore a gravita / Cable de
interruptor de gravedad / &
NFFRGERS

Front component / Frontkomponente
/ Composant avant / Componente

/ Componente frontal / BiZA{t

Komponente

/ Composant arriére / Componente

posteriore

/ Componente trasero / [

hose clamp / Schlauchschelle

/ collier / Fascetta

/ abrazadera de manguera / fz§E
/ Componente derecho / &
=R

. U1

cross screwdriver 1pcs/
Kreuzschlitzschraubendreher 1Stk /
Tournevis cruciforme 1pcs / Cacciavite
Phillips 1 pz / Destornillador Phillips
Tpcs / +=484£7]

04

Back component / Riickseitige

extraction hose /
Absaugschlauch / tuyau
d’ extraction / tubo flessibile d’
di aspirazione / manguera de
extraccion / XERE

T,

one-to-two adapter (with switch) 1pcs /
Eins-zu-Zwei-Adapter (mit Schalter) 1
Stlick / Adaptateur un a deux (avec
interrupteur) 1pcs / Adattatore uno-a-due
(con interruttore) 1 pz / Adaptador de uno
a dos (con interruptor) 1 pieza / —tH”%%
gL (HAX)

H2, H2.5. H3 wrench 1pcs
/ H2, H2.5. H3 Schraubenschlissel
1 Stiick / H2, H2.5, Clé H3 1pcs/
H2, H2.5, H3 chiave 1 pz / Llave H2 |
H2.5 . H3 1 pieza / H2RF H2.5 iRF
H3iRF

-

extraction hose /

Absaugschlauch / tuyau

extraction / tubo flessibile

di aspirazione / manguera de

extraccion /230

T

M4*10 16pcs

M4*5 8pcs

Instructions / Anweisungen
/ Instructions / Disposizioni

/ Instrucciones / B84



01

EN: Users who purchase the B3 case separately need to install the wiring by themselves, and users who purchase the A6 Ultral / A12 Ultral / A24
Ultral with the box do not need this step

DE: Benutzer, die das B3-Gehause separat kaufen, miissen die Verkabelung selbst installieren, und Benutzer, die das A6 Ultral / A12 Ultral / A24
Ultral mit der Box kaufen, bendtigen diesen Schritt nicht

FR: Les utilisateurs qui achétent le boitier B3 séparément doivent installer le cablage par eux-mémes, et les utilisateurs qui achétent le Aé Ultral
/ A12 Ultral / A24 Ultral avec la boite n'ont pas besoin de cette étape

IT: Gli utenti che acquistano separatamente il case B3 devono installare il cablaggio da soli e gli utenti che acquistano Aé Ultral / A12 Ultral / A24
Ultral con la scatola non hanno bisogno di questo passaggio

ES: Los usuarios que compran la carcasa B3 por separado deben instalar el cableado por si mismos, y los usuarios que compran el Aé Ultral / A12
Ultral / A24 Ultral con la caja no necesitan este paso

ZH: BIRIAEBIFHIPFAN AR SEREG BITREIEL, WLAS Ultral / A12 Ultral / A24 Ultra S P AR EX—%

05



02

EN: Install the left and right components using 8 M4*5 screws

DE: Montieren Sie die linke und rechte Komponente mit 8 M4*5-Schrauben
FR: Installez les composants gauche et droit & I'aide de 8 vis M4*5

IT: Installare i componenti sinistro e destro utilizzando 8 viti M4*5

ES: Instale los componentes izquierdo y derecho con 8 tornillos M4 * 5
ZH:{EF 8 B M4*5 IR R A AN

03

EN: Connect the control wire IT: Collegare il cavo di controllo
DE: Steuerkabel anschlieBen ES: Conecte el cable de control
FR: Connectez le fil de commande  ZH: kT4 01544




05

EN: Install the top component using 7 M4*10 screws

DE: Montieren Sie die obere Komponente mit 7 M4*10-Schrauben
FR: Installez le composant supérieur a 'aide de 7 vis M4*10

IT: Installare il componente superiore utilizzando 7 viti M4*10

ES: Instale el componente superior con 7 tornillos M4 * 10
EN:AER 7 Bt M4*10 122 2R TREBLE M

07

04

EN: Install the back component using 6 M4*10 screws

DE: Montieren Sie die Rlickwand mit 6 M4*10 Schrauben

FR: Installez le composant arriére a I'aide de 6 vis M4*10

IT: Installare il componente posteriore utilizzando 6 viti M4*10
ES: Instale el componente posterior con 6 tornillos M4 * 10
ZH: fEF 6 B M4*10 1BET RS AN




06

EN: Install the front component using 3 M4*10 screws

DE: Montieren Sie die Frontkomponente mit 3 M4*10 Schrauben
FR: Installez le composant avant a 'aide de 3 vis M4*10

IT: Installare il componente anteriore utilizzando 3 viti M4*10
ES: Instale el componente frontal con 3 tornillos M4 * 10

ZH: £ 3 B M4*10 SRET RERIAH

07

EN: Install the hose clamp and exhaust hoses IT: Installare le fascette stringitubo e i tubi di scarico
DE: Schlauchschellen und Abluftschlduche montieren ES: Instale abrazaderas de manguera y mangueras de escape
FR: Installer des colliers de serrage et des tuyaux d’échappement  ES: R XK EFWzHE

" N

EN: Tighten the screws to adjust the tightness

DE: Ziehen Sie die Schrauben fest, um die Festigkeit einzustellen
FR: Serrez les vis pour ajuster le serrage

IT: Serrare le viti per regolare la tenuta

ES: Apriete los tornillos para ajustar la tension

08



08

EN: Install the silicone plug1, and connect the power cord 2 for the switch

DE: Setzen Sie den Silikonstecker1 ein und schlieBen Sie das Netzkabel 2 fiir den Schalter an
FR:Installez la fiche en silicone1 et connectez le cordon d’alimentation 2 de I'interrupteur

IT: Installare il tappo in silicone1 e collegare il cavo di alimentazione 2 per l'interruttore

ES: Instale el enchufe de siliconal y conecte el cable de alimentacién 2 para el interruptor

ZH: BERELEFIERE 1, FHEENBNBIRE 2

09



09

EN: Product Display

DE: Produkt-Display

FR: Affichage du produit

IT: Esposizione del prodotto
ES: Exhibicion de productos
EN: BimBR

Camera / Kamera /
Caméra / Macchina
fotografica / Cémara / &
&k

Gravity sensor switch / Schalter fiir
Schwerkraftsensor / Interrupteur du
capteur de gravité / Interruttore del
sensore di gravita / Interruptor del
sensor de gravedad / N RRFF X

Camera USB cable / Kamera
USB Kabel / Cable USB pour
caméra/ Cavo USB della
fotocamera /

Cable USB de la Camara / 1§
&LUSBZ

Vacuum power switch / Vakuum-Leistungsschalter /
Interrupteur d’alimentation a vide / Interruttore di
alimentazione a vuoto / Interruptor de alimentacion
de vacio / BIRFFX

Extraction fan / Absauggeblase
/ Ventilateur d’extraction /
Ventilatore di estrazione /
Ventilador de extraccion / X,
XBs



EN

DE

FR

ES

ZH

Scan QR code : QR code reader/barcode scanner or any app with a scanner

Customer service : For detailed warranty policy, please visit our official website: www.atomstack.com
For technical support and service, please email support@atomstack.com

Manufacturer : Shenzhen AtomStack Technologies Co.,Ltd

Address : 17th Floor, Building 3A, Phase lI, Intelligent Park, No. 76, Baohe Avenue,

Baolong Street, Longgang District, Shenzhen, Guangdong, China

Zip code: 518172

QR-Code scannen : QR-Code-Leser / Barcode-Scanner oder jede App mit einem Scanner

Kundendienst : Detaillierte Garantiebestimmungen finden Sie auf unserer offiziellen Website: www.atomstack.com
Fiir technischen Support und Service senden Sie bitte eine E-Mail an support@atomstack.com

Hersteller : Shenzhen AtomStack Technologies Co.,Ltd

Adresse : 17. Etage, Geb&ude 3A, Phase lI, Intelligenter Park, Nr. 76, Baohe Avenue, Baolong Street, Longgang
District, Shenzhen, Guangdong, China

Postleitzahl: 518172

Scanner le code QR : lecteur de code QR/lecteur de codes-barres ou toute application avec un scanner

Service a la clientéle : Pour une politique de garantie détaillée, veuillez visiter notre site officiel : www.atomstack.com

Pour I' assistance technique et le service, veuillez envoyer un e-mail a support@atomstack.com

Fabricant : Shenzhen AtomStack Technologies Co., Ltd

Adresse : 17e étage, batiment 3A, phase I, parc intelligent, n° 76, avenue Baohe, rue Baolong, district de Longgang, Shenzhen, Guangdong, Chine
Code postal : 518172

Scansiona il codice QR: lettore di codici QR/scanner di codici a barre o qualsiasi app con uno scanner

Servizio clienti: Per una politica di garanzia dettagliata, visitare il nostro sito ufficiale: www.atomstack.com

Per supporto tecnico e assistenza, inviare un'e-mail support@atomstack.com

Produttore: Shenzhen AtomStack Technologies Co., Ltd

Indirizzo : 17° piano, edificio 3A, fase II, parco intelligente, n. 76, viale Baohe, via Baolong, distretto di Longgang, Shenzhen, Guangdong, Cina Codice
postale: 518172

Escanee el codigo QR: lector de codigo QR / escaner de coédigo de barras o cualquier aplicacién con un escaner

Servicio al cliente: Para obtener informacion detallada sobre la politica de garantia, visite nuestro sitio web oficial: www.atomstack.com

Para soporte técnico y servicio, envie un correo electrénico a support@atomstack.com

Fabricante : Shenzhen AtomStack Technologies Co., Ltd

Direccion : Piso 17, Edificio 3A, Fase Il, Parque Inteligente, No. 76, Avenida Baohe, Calle Baolong, Distrito de Longgang, Shenzhen, Guangdong, China
Cédigo postal: 518172

MR ERDISRRS/ SR I SR A R R R R
BFIRS: AXFENREBER, HHREIINESMNLL webMik: www.atomstack.com
WNFERASHFHIRSS, BERIXBFHHESIFA R @atomstack.com
&% : Shenzhen AtomStack Technologies Co., Ltd
gﬂ%: I FRERITH R XERAEERAEEAE76 SE 2R _HI3AR 71
Bém: 518172



